Math 232 Calculus 2 Spring 15 Midterm 1b

Name: %Wh'%h}

e I will count, your best 8 of the following 10 questions.

e You may use a calculator, and a 3 x 5 index card of notes.
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(1) (10 points) Find /

J

-IT.

3 > o4
. AR |

o

~3 == —
— & 3

= —{m



1 —
xzo = a=t,

3
(2) (10 points) Find / |1 — 2?| dz. Draw a picture of the region.
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(3) (10 points) Draw a picture of the region bounded by the curve y = 2sin(z),
for 0 < z < w and y > 0. Write down an integral to give you the volume
of revolution of this region about the z-axis. DO NOT EVALUATE THIS
INTEGRAL.
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(4) (10 points) Use shells to write down an integral for the volume of the cone
formed by rotating the triangle with vertices (0,0), (0,2) and (1,0) about the
y-axis. DO NOT EVALUATE THIS INTEGRAL.

% llo : A()= Uity

('ot'v) [ U\: 12 \
S Tax (};‘M Ax

("l‘\ w (‘l')




(5) (10 points) Consider the subset of the plane bounded by y = 4z — z* in the
first quadrant (i.e. z > 0 and y > 0). Find the volume of revolution of the
3-dimensional shape formed by rotating this region around the z-axis.
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(6) (10 points) Find /L\-/Eln(Sm) dz.
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(7) (10 points) Find [izisin(m) dz. J\“\J'd‘x = uv- ju\'\, olx
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(9) Find / sin(3z) sin(4z) dx.
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